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Which are undefiled by a Zohv — a2 PMTLw

OVERVIEW

The X3 derives nni1 MR DMWY by a yd» through a 1"p from 2°1vp 125, who are
212 7Y and nevertheless Nna Xnwvn, so a ¥on which is 212 1Y is certainly  Xnon
nn2. Our MooIN discusses the meaning of 212 PAL.

nooIn asks:
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It is astounding! How does the Xin of this ¥n™12 know that 2°1vp 125 do not

become X»v through the ‘fountains’ of the 212!
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Granted that the 2°1vp 1725 cannot become X»v through the hair of the 31, but
that is limited only to the hair, since the 182 of the hair is derived from the

R of the flesh of the 23 -
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Therefore we require that the hair is X»v» only in a place where it is fit to be

touched by the flesh, and since the 7w2 cannot enter into the 0°10p 1°39, therefore the Ww is
also not Xavn inside the v %29 -
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However regarding his saliva which is written explicitly in the 77n; ‘if the 21
Sspits on a 7177© he becomes Xnv’, it is obvious that there is no requirement there
that it be fit for =wa mm:,“ so how can we say that 21wp 139 are 213 pmmw?!’

SUMMARY
The saliva of a 27 is Xavn even if it is not w2 NY 312 IR,

THINKING IT OVER

The 1"p 1s still valid even if we assume that the 2°1vp 725 can become X»v from
a7 myn, for they cannot become Xnv through other means, but y97 can; what is
the m°n of moown?!°

" The 'ar7 ma»yn' are the liquids that come from the body of the a1, such as his saliva.

% See previous 71 7"7 mooIn [TIE footnote # 6].

31,00 (3719%0) Xp7 where it states; 279 TV KL I3 MV AT P17 0D,

*If a 21 would spit into the 0°vp 122 they would become Xnu if the saliva entered the inside of the *23.
> See w"x171 Moo and P"nvw who offer an answer.

% See yun 1o,
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